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Falte das Blatt entlang der Linie und berechne p%.  (W · 100  :  G = p) 

 1) G = 47,32 m² W = 38,83 m²  p = ______ p = 82,06% 

 

 

 2) G = 98,05 m² W = 89,44 m²  p = ______ p = 91,22% 

 

 

 3) G = 0,65 kg W = 29,99 kg  p = ______ p = 4613,85 

 

 

 4) G = 17,53 l W = 27,23 l  p = ______ p = 155,33% 

 

 

 5) G = 95,69 € W = 54,81 €  p = ______ p = 57,28% 

 

 

 6) G = 74,72 kg W = 38,01 kg  p = ______ p = 50,87% 

 

 

 7) G = 15,33 l W = 32,76 l  p = ______ p = 213,70% 

 

 

 8) G = 20,17 km W = 41,88 km  p = ______ p = 207,64% 

 

 

 9) G = 96,89 m³ W = 15,32 m³  p = ______ p = 15,81% 

 

 

10) G = 46,41 kg W = 13,32 kg  p = ______ p = 28,70% 

 

 

11) G = 40,86 m³ W = 80,52 m³  p = ______ p = 197,06% 

 

 

12) G = 24,10 $ W =  5,12 $  p = ______ p = 21,24% 

 

 

13) G = 56,31 € W = 66,97 €  p = ______ p = 118,93% 

 

 

14) G = 82,01 l W = 44,47 l  p = ______ p = 54,23% 

 

 

15) G = 37,63 km W = 43,82 km  p = ______ p = 116,45% 

 

Ergebnis: 


